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3< Vx<4
9<x<16
ox=9, 10, ---, 15 (7 7H)




2. A= V84 63,B= Vi8- V7 & W}, V7A - V2B 2] 27

@ 14+3V3 @ 14- V14 ® 15-2V14
@15+ 314 ® 16+2V14

B

A=2V2+3V7, B=3V2- V7 o|E&
V7A - V2B

= VT(2V2+3V7) - V2(3V2 - V7)
=2VI4+21-6+ V14

=15+ 314
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(i) x¥>—ax+b=AB
=(x+a)(x+p)
=x>+ (a+p)x+ap

A+B=(x+a)+ (x+p)
=2x+a+p=2x—-a

(ii) x> +ax-b =CD
= (x+7) (x+9)
=x>+(y+6)x+vy6
C+D=(x+y)+(x+9)
=2x+y+0=2x+a
~x(A+B+C+D)-4a®
=x(2x—a+2x+a) - 4a®
=4x?—4a®* =4(x+a) (x—a)




4. O 4x - 5x2 412 W A ARG Foz A% Bt v
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O 2x+1 @ 2x-1 (@)m
@ 6x+1 ® 4x-2

(4x>=1)(x*-1)=2x+ )(2x - 1)(x+ 1)(x - 1)
(A ) =2x+1+2x—14+x4+1+x-1
= 6x




